HOMEWORK VI Solution
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One can get the equilibrium fuel cell voltage from the following equation:
-AG.(T,P
gz—G’( P) Eq.(1)
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Note that AG, is the function of 7 and P. Using Equil, one can get
—AG (T =353K, P =150kPa) =230kJ/(mole of H2). Using Eq.(1), we get
230kJ / mole

€= = 1.19Volt
2*96485C / mole
2)
' /A
_ﬁ_a ,cathode = ln lO.Calhode )
om I il A
i /A

_H-a ,anode = — RT n 0,anode )

(- F /4
. I
o =i-Ry =Ry
Eeet =& Ho — | #F, scathode [-] 7. Janode |

Assuming a =0.5 , we get the following plot
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nsecond = AH’, - Mr/A
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W, =current density x cell potential (W/m?)
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